Chapter 9 Test Stuff*
(Jeopardy Style)

1. The reason the number of farms in England increased was this:
2. Textile production was the first area to undergo this change:
3. The spinning jenny and flying shuttle could be found here:
4. A new business creator was called this:
5. Early factories had to be located near these:
6. Land, labor and capitol are factors of:
7. Adam Smith defended this theory:
8. England is noted as the first nation to do this:
9. Communism is most closely associated with this philosopher:
10. “The greatest good for the greatest number of people” is called this:
11. Increased production of machine made goods that began in England is called this:
12. New agricultural methods, enclosures, people moving to cities are all examples of this:
13. Urbanization is the main cause of the process known as this:
14. The U.S. was blockaded in order to keep industrial secrets out by this country:
15. Not being responsible for its debts is an advantage to being this:
16. Unions are described as being this:
17. Public education, women’s rights, abolition of slavery are all examples of this:
18. It led to population growth, increased food supplies and caused farmers to lose land and seek other work- is known as this shift:
19. It made the population grow faster than the housing supply in cities:
20. Illnesses caused by unhealthy living conditions caused shorter life-spans here:

   Short answer question:
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 Why was England the first country to industrialize? (At least five reasons) 

